INO=F7®RX—/\—HD

I A W a2 &
[Z (mm) & (mm) E&(mm) #D
3.0 5
5.0 4
7.0 1,000 S 40
2.100 et
10.0 5 =
15.0 1
20.0 800 1
HFERERICDOVTIECHERRICRUER T . EHHESMM~20mm 08 &
Y A WERE I (mm)
AR 2 == B | AL | Al
30| 50| 70| 80/100[150/200
“ MD | [141] [138l132
dFRE | MPa | JSK-717]
INE=7r D 131 146(158
A== | MD | |580] |510]460
BFEME | MPa | JSK-7171
0 500  [470(470
MD [134/156]165  [166/132]139
dFaE | MPa | JSK-7171
JxO=7"° 0 (125152188  |186l1580185
A=/\=HD MD |860|770|720|  |640|620|600
gz | MPa |JSK-7171
D |810(760|710|  |660|670|690




